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Abducted by an alien circus company,
) ' ) Professor Doyle is forced to solve
Rational ‘Expressions ¢ ‘Equations advanced algebra problems in the center ring




 Factoring
DEMONSTRATION (Review Unit 1A)

(D) PERFECT SQUARE TRWOMIAL

2x*=12xy + 18y*
2 (x2-6xy +4y4*
2 (x -3y

Q) TRINOMIAL : OX*+bx +C
sz-HOxtj '7“831 g
3x*+ bxy +’-+>c? +8y
Zx(x+2y) +Hy IX'i'Z-:j)
(K-f—)-:j) C&xﬁ-%ﬂ)

& QUANTITIES

(Ha 4+ 3b)"~ (@=b)™
[Cda +35) +(-] [(ar 30~ -0

(5o +25)(3a F4b)
&) PERFECT (OBE: Sum
2723+ 8b° .
(3a+2b?) @Go*-bal +Hb™)
B) PERFECT cLBE: DIFFERENE
206 - 128b7
5 (oe-64bD ,
2 @434 HHa™b - 1bb°)
@ GLROUPING

x(b,x“l32+:j(,_ ij‘-}

Wt (- ) 1-3"* ('32""%2')
x4 (x"—%")- y* (x"-g")

‘ sz_al) (x"l -Y i-})

Ok (k=) O 1) (3D (-4
GRoVPING ¢ 3 -}

c*+Hab “4x* +4b*
(524 Hab +4b2) —9x*
(a+2b)>-9ax™> -
Car 2b+3x) Cat2b ~3x)

FACTOR CompLETE LY

m>=3m?e +2ma "Ct‘%
m3-g3-3m2*+3ma’

(m -a) (¥ -ma +62)-2ma(Mm-a)
m-a)(m*+ma +a*~3ma)
(m-a)(m*—2ma +o)

tm-a) (m-ad™

(m-0)?

@ QUADRATIC FORM

n~10n*+9

(r)* ~-10n*+9
Cn=a) (n>-1)

(n+3) (n-3) Cr+1D(n-1)

Additonal Prachce
Pechlems In:

I.;l Ovnd. |.3

-




Factoring
PROBLEM SET (Review Unit 1A)

Foctor each expression:

O Gn-m)*~n+5md* @ S -n3m*-mS +nim?
@ (2a+%-b)l—fa‘b)l @ 3x1-33"'-321—633
® b x>+ 2ayb ® 20*-18 +Hab +ab*>
@ 27 x3y2 4 2° @ of -203b3 + b°
B xO-x3y3-ylpxiy3 © x®+2%3y3® -324°
|

well, quess 'y
get the coffee on,

“Let's see here. ... Ohl Close, but no cigar. You wan! the Ed and Barbara are vised by the insects of the
place up the road—same as | fold those ofher feliahs.” Amazon Basin.




Factoring
ANSWER KEY (Review Unit 1A)

(3n-m)*= (n+5m)*
@ [(Zn-m)+ Cn+5m)J [(3n-m) ‘(”"'5'")]
(4n +4m)2n— 6m)
H(n+m) 2ln=-3m)
s (ntm) (n-3m)

@ (2a+3b)’- (a-b)°
[(aa +3b) +a-b)) [(Ra+3b)=Gb)]
(30 +2b) (a+4b)

@ b3+ ij |
2(8x3 +9 ©)
2C2><+3’*) (x>~ 2){31_}_34)

®

27><333+ Zq :
(z xy + z2) (‘{x131—3><323+ 2°

B x°-x"y3-ylrx’y3
w3 (x3_33) ._33 3(33 :(jxs)
x3 (x3-93)+y3(x>-Y 3
(x3-93)(x3+y3) |
G-+ x g Ry () (3w +y2)

@ nS-n3m~-m>+ n*m>
02 (n*om>) = m3 (m*~n?)
n3(h2-p2 )+ m3 (n>-m>)
h>-m>) (h3+m?
(n+m)(n-m) (N+m)(n*=nm +m>)
trm) = (h=-m (> -nwm +m"')

@) 3x*-342-232%-6Ly2
3% —(y?+2yz +29)]
32— (y+D)?

2 (x+Y+2)(x~Y-%)

@ 20> -18 +Hab +2b*
2 [(a* +2ab +b2) —CIJ
2 [Ca+)* -q]
2 (a+b +3) (arb-3)

@D al-2a3b> +b°
@3 -203b3 +1DT
(a3-b2)* N
(6-b)* (a*+ab +b*)

%© + ;szbs "35("‘
a3yt -3
G +3 4303 ‘:133 X
(3 43y3) (x-y) (x*+x4+y )

7 “Man, these pups today with all their fancy balls
and whatnot. ...VWhy back in our day, we
had to play with a plain old cat’s head.”

....3-




Simplifying Expressions
DEMONSTRATION (Review Unit 1B)

(D) NeEGATWE EXPONENTS PRODUCT oF A Som AND
-2 DIFFERENCE
Qab)* (@3ce) .,
(2 b'-’-c_)"?’ Casx-u-l + abx-z) (asx A Bbx-z)
X +2 -
a. - qbZ)‘: 4
Garb®) b= ™>)
2-3p~6 ™3 .
Addihonal Prachice
"fa:'"{ b . 32 k8 Problems m:
2—3 b—‘GC-B - G\-*

@) NEGATIVE BXPORENTS

/—56\"55 -3

\ at b

-3 -3= 2 b 3- ~ceb® .
2% -3 /7 a7

VARIABLE EXPNENTS

Li_xaﬂ?—n -\

-2 X\ Nn+3

_ (2n-D-(n+3) —
Qx:‘:, =~2 xz_\j n

SQUARING, A BINOM AL

2 . :

(2% 3n F3 ﬁ‘)‘l‘) Shark nerds always ran the projecior.
N+ wn

Bx@M 12 3Ny Ay i

~Y-—-




Simplifying Expressions
PROBLEM SET (Review Unit 1B)

Simehfy each polynomial

expression !

O (xy)*(x9)>
' (2xz)"

@ (-2ab>Y3 (20 b)
(2a2b3)"%

O (zyZaly
.® (:n o )—5

G -2, bSX -1

-2 -3 o +3b
x L

] Tianh
W3 g

®©

@ GE-ay")T

@ (B + 9T

@ (e, Jrgan
©

(20%-2 ) Ea%+ 2512

Dont let them pul} £

Koep the leash slackl...
Praise Them! Prise 15 good!
Doonet hat Them suck on To anything!

r -r|j

“Professor LaVonne had many enemies in the
entomological world, detective, but if you examine

that data label, you'll find exactly when and
he was—shall we say—'collected.’”

where

-F-




Simplifying Expressions
ANSWER KEY (Review Unit 1B)

@ i3><gi)2(><u1)-3 @ 8-2)(-3L,’an+3b

(3><2)"f ._r—sx-lgo\—}?
@xy*)(393) 90y | a7 Y () -(a-b;) _ s
37 x-lg R A x> - x®

@ (-2a bz)-3 (=247 5%
a*b3)*
[&_,2)-30\—3 L—b.] [(_2-)‘7- az b—?_.]
2o b

e bR 2l el | -ad
20 BT gt g

—

© (‘3>><2 y3z’ )"2

2x7*Y
(‘BX‘-} )_D:-_‘ <2:j"' 3)1: H 32_2-
2yiz -3 ' g x®

@ (_9\ N 3m2 >~3

2 H—H m=>

(—R n—’ m 3>-3= ( 2 3__! -2
3 2 gnzimc]

B 12 adp*3
, oo ? b3 %=1
2 Lo pDCxD o 5 62

© (3xzn_‘2an+l)1

Hn 2n N+l
q X - ’1)( + L_}jlﬂ"}’l

)

- : 2
® (57 + 1)
'25'03..)(—2. + HOO\X_I b’”’3+ j{cbz)ﬁ—lﬂ

@ ( in "'”1_‘_‘j n-m) (Ximm_ 4 n—.m)

Hn+2 in-2
Vet m__tjn M

@ (30@‘4 2bx+3)(?;a"+lb”5>
qazX _',_f bzx+-€

#,vin_g T
cret of Pirgles Cove. We ;
o e e

"“""‘ e Nt o - ]

Testifying before a Senate subcommittee, the
Hardy boys crack the Iran-contra scandal.

-~




Synthetic Division
DEMONSTRATION (Review Unit 1C)

@ PoLyNom IAL DIViSion
(h3-3) + (n+2)

n*-2an +4 =2
n+2a | n3 -3
n3+&1hl
-an*
- n'J- ....l-}n
Hn -3
Hn+8
._”

@ SYNTHETIC DIVISION

(2x"1-BEx>10x +8) (x—s)"

3l 2-5 0 -10]3
& 3 9 |3
2 1 2 - |5

253+ X +3x -1+ -3

@ SYATHETIC DIVISION

(12 nq*2h3-;>,),':_ 2n+1)
(bnY ~n3-35) + (n+'A)

“V2l b -1 © 0{—3’:
-2 2 -l |V
© -4 a - |- —Eh*2

br3-tptran-1 - Yan+ |

SYNTHETIC DIVISION PROCEDURES
( Problem F3 ; Explanation )

Q) Sivce the lead coefficent oF He
divisor is pel 1" ~divide (by 2)

b Take +he opposre oF the constan?
in the divisor ~¥a]

c) wWrite coefFiaents in descending
ordec ot N &=l 00 34

d) B;rl'nﬁ down The first number (6)

e) (Nvply ‘lv._} x(b) = =3 and put
i 2nd colomn, fdd (1 + 3= -4)

£) multiply “A) *ED=2 and putin
3ad tolumn, Add (0+2=2)

9) Conhnve o losh column (remamder*)
Moltply to reverse +he dwision m
Step )., (DXA=

h) Wse +he veselt +b frame he
cluo-f-ien‘h

Addihonal Practice
Problems |n !

|4




Synthetic Division
PROBLEM SET (Review Unit 1C)

Ase @olgnom\a«,f chvision :
@D (n*-4) + (n+2)
@ (}bx"*;- )+ (ax+1)

Wse syathetic division:
@ (%2 +3x2-Yx+) + (x+3)
@ (Bn3-3n?+an-5) + (n+)
@B Ge3-)1x +10)(x +3)7!
©® (y2-Gy+ie)(y-2)"
@ (6n*-Tn? +40™90-8)(2n-1)"

Clox™ +ahss 1 + I +16) (x4 )

@ (ot 113 -7) (3x +2) !

-1
(10 nq+ 12_\43 +n1"+7n HO)(SW)'B)

Show the Sa ntheRe

lelSlon er on Youvr
workshe

The geicd will be requwecJ
on the review quiz.

It was a tough frontier town; but later,
after the arrival of the Earp brothers, things
calmed down, and the town’s name
was shortened to simply Dodge City.

More facts of nature; All forest animals, to this
very day, remember exactly where they were and
what they were doing when they heard that
Bambi's mother had been shot.

-3—
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Synthetic Division
ANSWER KEY (Review Unit 1C)

3p> pn 12 - 2%y
n+2 |343 _ -4
anc4+bn®
~bn®
—bn =12n
l2n -4
PRIESL
-2%

$33 ~ 42 = | = F2%+]

23+ 94 ~3
[ox+ 8x3

(CH3x3dx H) T (243D

3] 13
12

3 O
| O -4 I3

%> <+ 1¥x+3

(Bn3-3n*+2n-5) + (n+)
-1l 5 -3 2 l—s
-5 8
5 - 1015

Sn*-&8n+10 - 'S/H+]

B (x3-11x+10) (x #3)7!
_:ZL) I © -l {lo

-3 9 | 6
I 2 2 l]b

Xax =R + '@ 43

@ 6333'- 5y 'l“lO)C\‘j—a-)m|
2|30 -5 ’IO
G 14

36 7T |24
24> +6y+T + P2

D (n?-Tn 2441 -% 8)(2n-1) '

(ant-In3+an™- -'-D ("“‘)
k)2 -1 2 ‘% =
%. - T |2

3 -2 | 4 -6 >x2
Ind-2n>+h =4 - 12An-

I -
@ Clo;‘ 2l 3+ + 11 +16) (2x+3)

(5x3+ 23+ W41 x4 8) (x +3/4)-,

3|5 ¥ ‘A '
~'S/a 'q/z 35, |6
5 3 |\ 4 |a %2

x>+ 3xT+x +4+ FAx43

—9-




Synthetic Division
ANSWER KEY (Review Unit 1C)

@ (2x +H><3—-7><)(Srm-.l)‘l (10 @ont #2203+ i+ +10) (B +3)™

(% + Va3 =74 ) (x+3)! Cant+ n>+ Jorts Ton +2) (n+3/5) "
")7/5] 4 VWi =7/ O[O ”%f 4 *2s 5 %
5y 2 2| Th s Y Y5 7%
4 | =3 2 |y x3 H o2 H 2 |45 x5
B34 5x3-2% + 2 —Vax+a Hp3+2n?*—n +2 + /5043

‘\___<
D= WELCOMY:

)B UTLERS o th
W

“Man, the Kellermans are bold! ... If it wasn't for our

“God, Collings, | hate to start a Monday
screens, they'd probably walk right in!”

with a case like this.”

""O"‘




Determinants
DEMONSTRATION (Review Unit 2A)

() 2nND ORDER
DETERMINANT

L 3 ‘
_8 _._l .
L) - (-$)3)

G)~ (-2H4)
(-12)+(24) =12

Q@) EXPANSION OF M)NORS

2 3 4
6 5 7
] X 8

“Oh, ook, Rogerl Nerds! ... And some [iflle nerdlings!”

5 71 6 7 | & B
lla 8|"3"| 8'““*" 2

Signed mimors

+ - +
S A —
@) Co -19) =~ B (4s-7) + (1 -5) P
@) (26) -GN+ ®YT) = =43
@ DIAGONALS
6 5 (80) + (21) + (4g) - 20)- (28) = (144)

(80) + (21) + (H&) + (-20) +H(2&) +(-144)=-43

Addihonal Practhce Problems Tin ¢
2.2 and 2.3




Determinants
PROBLEM SET (Review Unit 2A)

Find The valve of each
Znd order determinant :

e 2 @5 9

2 0 “t 5
Use expansion of minors
10 determmme the valve
@ |4 25| @leon
L 0O 2 -3 5 -
b I 3 293
® |o 3-| @23 "
25| |0 e T
o & Il -3 Yy

Use d\'aﬂona-ls 1o
determine the value :

@ |41 2] @)% 1 -3
36 2 g | =2
© 3 a 3 %6
@ |7 32| @16
q 0 -6 234
R o-j-
On +'h€ C[U.l'l 300 ma".’] W"‘Sh +O “Ohan There you gor ir; ith angther
use both methods 4o double one of those hiss-and-tell books.

check an answey




‘Determinants
ANSWER KEY (Review Unit 2A)

D) |6 2| ©0-E3)2)

2 0 (0)—(b) = -b
@ |5 9| )~

-4 5| 25)-(36)=-6|
® |4 35

2 0 2| = ~-|O

L) 8

1198 ]-2[82]+s |27
W 2)-6) () +6)(2)
-€)+ (-12) + (1) = ~10

@ e o4
35| =4
29 3
S_ol3 1), uls5
| ("}qs 0\2314’%'%0:
©) (24) - b) (-7 +&) (37)
49 + () + (- 148) = -4
® |2 =2 -
4 2 5| =-92
o 6 N
5 4 5) 0
—1!2— 1 ’“(’B)l o +(")) gcﬂ

£2) (&) ~ (B (-H4)+ 1) (24)

(1) ~(132)+ (a44)
() F+E32))+ () = -9

-

12 -2, 2
O - =2
34 =5
- o - -
12 q\ é“("‘)l-s -5 +3]-§ 4
) (13) -CREC) + B E3)
(1S6)+ (H2)+ () = 135

@

3 6t = -lox
g .
(1) + (0)+ C48) ~(0) - (a6) - (6)

G+ (6)+@6)~ ()~ (32) ~(4§)

®

@

q O =l

(o) QoY+ (18)~(©)-(42) - (54)

—— -

% 3 = =22

o)+ (©)+(FH8) )~ () = (4)

-3



Cramer's Rule
DEMONSTRATION (Review Unit 2B)

Use Cramers Rule 1o solve Use di‘aﬂonwls o Solve 1%(‘3
a 2nd Orvder System: Csame system as problem #2)
@ 3x "55 =7 ‘ @ 2 - 2
x-f_zfj:lb (C’JS) - ::_—.‘j_ﬂ-.z'
9 -6 3
l'}';’{ )5'7 2 4
2
X = = = ..:_:'.%. 5: —I_.{E- = ‘%.5 .
I? 2 i (24) + Go) +(0) ~ () ~() = (b) = ~H4
Cic8) + (D) +@) ~(18) ~€ra0)—(18) = ~66
Use pransfon of minors to Qdo\'rh'onal Prachce
solve for X ! Problems in @ 2.2 and 2.4
@ Hx-3y+2=-1

22X +qu +5 &= A
A ‘-63 -32=0

-1 =31}

2 9 g a3 N o

N = - 1 We want her in by midnight
X = ° = =1 und:rsTiznd ?Andby%},’ﬁ,‘?}er'you

1 -3 | - bb by better be married before Joti even

ThinK of cutting her head off? 4
2 95 R
L b3

en[13]-e0f2 3l ]33
€1) (3) ~ (33 -6) #0)(2) = -33

@553 a2l

(4) (3> - (=3) (—-l(:) +G )(#30) = b Henry VIl on the dating scene

-4




Cramer’s Rule
PROBLEM SET (Review Unit 2B)

Use Cramers Rule fo solve
o 2nd order 53_s+e,m:

D 2x +54=-2 @ 2x3y=-8
X =15y = | Bx—-by=-}|

Use expansion oF minovs !

® Solve for 4 ® Solve for X

3}‘("3"\‘ Z2=8 6)(—3 y2z= -3
Ax+3y -4 2=-| 3x+My -2 =
X-2y4-239 Ax=3y~42335

ASe d{&gona\s :
@ Solve for X @So\veﬁ»rﬂ

3% +8y ~bz="]  2x-2y+2s H
X+ 129 =324 Xty —322 2
2><1—'-f3—32'—"'3 )(-—:5-1-220

Use eliminadion avnd sub-
shiuvton to selve F+he

SL/)&ﬁ‘em ;

@D 2ax+3y -22=10 @) ax+yt+2=2
Mxd4y-2= 14 X-2y+422 3
X+ =| Ax+Yy 427 =~

Tov extra rachce using
exPanSion minovs, diagonals,
oy eliminahon and subshiution

Wse +he ovdered +riples included

o} the end of +he answer
keﬂ for mb‘ems 3—-0,

s )
' se e % athTes

all the hiftle K'ds

Later, Edna was forced to sell her
brussels sprout house,




Cramer’s Rule
ANSWER KEY (Review Unit 2B)

O 3x+55=‘1 (L -é)

Gx~15G = 1| >
—25‘ 2 -2
s |95 =5 __l.en M5
|3 5| “1s <15 -15
-}

® ax+3y =-8 2
Ex—bgf-'-ll (-3,75)

2 53]
-1 b
X = L .=§..i. 5 5 -h 18
2 3] "7 27 —27
5-b
© 3x -y +2 =&
2x 3y -ya=
* - 24-2 =9
3 g |
Tal iy
3:-..3__ = — =z =3
2 -l -38
Zz 3 -y
I =2~

O P O b EXO) et
(2) (37> = (&) (2D +(1)C14) = nL[-
(3)'_3"_?,—(-:) O ]'7'_3'

(3) (~11)=(-13() + (1) (-7) = =38

® bx-y+a2z==3

XUy -2 = 2
GIX"Bj -4z =25

3713
g=ts M 138 o

b~ 2 ~207 3

3 4=

4 -3-4
c-s))“*“) -] |re)s )

Y)Y~ (D D+ (Y (oe) = 138
BTEIREINSEE
(©) G- (1)(=3) +(2) (-45) = =207

Ge)+ (72) +(-96 )= @16) = (12) ~C %)
(36) + (72) +(-q6) +(-26) +(=2) +(36)

O8) +(-H8)r (-249) ~(-1)— E36)~ (- 24)

(108) =48 ) + (29) + (194) + 36) +(2Y)

_.“0....




Cramer’s Rule
ANSWER KEY (Review Unit 2B)

® 3><—-2.3+2-_:L}
x+Hy -3z
X=Y + 22 =0

L)+ (D) +(0)-(2) - (o)~ (+)
(b) +(-12) + (0)+(-D) + )+ -4)

(2% () +(-D) = (H)~(@) - )
O2)+(6) +(=) + ) +H-a) +(2)

@ a)lx-Bj -2z =10
b) 4x +9 ~2 =14
¢ x t+ty +2= |

o) 2 +33 -27=/0
C)=2X -2y ~2% T2

Y-4r=8
b) Hx +y -2 = 14

) -9x Hy -2z -4
~34y52=[0

(Y-H2=8) *3 3y -lrz =2y
@3y52%0) By =S2=(O
-7z =34
2 =-2

y-4z=8 — 4 —4(2) =&

Y=o
x+y +z=|
x +(o)+(-2) =1
X =3 (3)0}—}_)

BDax+y +2 =-2
B X =24 +2% =3
A3x+Y 22 =-|

CD 2x4-Y +2="2 b) -3y 1'65‘32:"‘?
B)2x+H4y =2 =-b )3+ y +222

5y -2 =8 7y -2 =210
5y-2=-8 55-2;:—8
-7y+Z =10 SE) 28
‘Zg):z -z2=-3
g=-l 2=23
X —25 +Rr =3
x -2ED+H3)=3
x= "2 (-2,~1,3)

PRoBLEMS 2—06
COMPLETE ANSWERS
FoR EXTRA PRACTICE

@ (2)_3J-|> & -5, '/4)-2)
® (-1 ® 1,-3,73)

..-,7._..




Inequalities ¢ Number Line Graphing
DEMONSTRATION (Review Unit 3A)

@) ComPoonDd INEQUALITY

<L X455 £ 4

24 X35 apd X35 £ 1]
-~ 2L X ;m_é X4 (o

@ ABSOLUTE VALUVE : IN'EKSEL)ﬂoN
<
[3n-21+1 45
{2n -2 24
Zn-R&H Wﬁ?m 22 -4
3n 26 and 3n2-2

n<a cwd n=>-2M3

3 émﬁr?‘.]

£ O —— N
“%3 2

3 ABSOLUTE VALUE: unNIDN
| >)
lax-2| >0
4x-2 >0 oL Hx-24£-)0
4% > oL Hx £-§
X >3 ol x<-2

15>3 Lol x<-2
-2,

(D) TNTERSECTION OF ABSOLUTE
VALUE SYSTEMS

Inrl>3 and Inl#6

>3 of il <-3) M (n#(oc«ﬁ n#-6)
(N> of N<-1) andd NAb g N#£-6)

W@W

@ INTERSECTION OF ARSOLLTE
VALUE SYSTEMS

©< [x-2] £ 10

,X”-}-}>b w. IY"-li <0
(x=226 of x->_<-6> wﬁ (x=2£ 10 apd ¥-22~10)
(x>8 of x<-4) a& (%12 od x>-8)

(x>8 o x<—) omd (=8 £x£12)]

AeeS—— O LB

-4 % -8 12
- -4 8 12

Add t‘honm‘ ?racﬂce

Pro blewns 1n

T
—1e-



Inequalities ¢ Number Line Graphing
PROBLEM SET (Review Unit 3A)

Solve each jpeguality and &) |—2x-3|+3 <1
araph the scluhon on a
num bex line : @ -4<ax+4<£ 10
O -24 x+6< 12 (D |ax+1|29 and | x-1}<7
® |x-5|-3 £ 10 @ -2£ |n-6]-4<6
& |ax-1|>7 | @ 2<|an-4]£Ix
@ 5x+e]2(o | (o) \x-\-5)>6¢|x+5\¢lo

;w

Neither rain nor snow nor sleet nor hail, they said, could stop
the mail....But they didn’t figure on Rexbo.

incessant little gnenting noises?”

_-lq_.




Inequalities ¢ Number Line Graphing
ANSWER KEY (Review Unit 3A)

QO —24£x+6< 12
-24 X+6 ag;g! X+b <l
84L& X Wfﬁ‘ x< b

—g<L£ X <6

e Or———————
-2 @
@ Ix-5]-3 210
Ix-51£13
x-6£13 and x-52>-13
xe1g omd x=Z-g

-g< X4 18] |
e ——— >
~8 18
@ lax-1|>7

2x~1>7 ol ax-{&-=7
2Xx >3 of 2x<—b
x >4 of X L —3

=3 e

@ [3x+61206
I+ 6 24 of 3x+o -6
3x 20 °}
xzo ¢

IxE -ty
x & -4

X220 of x<&£-Y

B |ax-31+2 <>
12x-3} <9
ax-3 <4 omd 2x-3>-9
ax<j2 “ﬁ 2x > ~b
X<b wﬁ x >3

-3 < ><'<6]
M
3 C

L -4<ax+4£)0
—y<ax+d omd ax34 £10
—g<Lax af\__"ﬁ 2x£ b
ex  ond x£3

[-4<x<3
WH
| 3

“And then wham!
This thing just came right out of left field.”

-0~




Inequalities ¢ Number Line Graphing
- ANSWER KEY (Review Unit 3A)

@ lax+i|29 ad |x- |<7
(@x+129 ¢ ax+l £-a) ard (x-1 <7 and x-—1>-7)
G2 o6 2x<-10) and (x<g ard x >-6)
\(x A xz?S) cmd C"fo<x <§)J & __%“_é N

M———W < >
Md 2

24 n-6|-4 <6
In-6l-4 2 -2 amd {n-6]-4<6
In—6} 2 af«,d In-6l< jo
B-622 of N-b<-2) Md Ch-6 <10 amd n=b>-10):

(nyg ¢f nél.}) @%4 ( Lf{n-({(,,) é—_———S%
d —if R - S |
W"W—"”WM é’%ﬁﬁwﬁi

@ 2< lan-4%| £ Iz

[2n-4|>2 wd. 129- '—llém

@n-472 o 2n H<-2) a;‘l (an ~H %12 Md 27 -4 2-12)

Gn > of 2n<2) jf,(znélta w8 ?_n‘7-8) ‘

n 73 oL n<) 1—}4"!48) e SEEE———(———>
& )af; & S ' —~H ) 3 &8
M—M Hﬁ%wu—— .

@ |x+5]>6 Mf’ Ix+3} #10
| x+S >6 of x+5<-6) ond (x+3 #/0 W8 x+3 #~/0)
(x> of x<=11) aﬂ &# 7 x #—I3)

’_('x>’§'f><<"”)@-é(><¢7@,dx¢"5) S omm—e—
| ) ' ' —-|3 | | 7
KM 0N GAOAATA

=t ” ~13 T

~2\—




Linear Equations
DEMONSTRATION (Review Unit 3B)

Review information about (3 STANDARD Form

linear eq votons s
@ | Ax+ By =C X-;lg:"é
SLOPE
....... o shpe =% Tz
T A) undef, y -t = 98 e = 3 (0,3)
3 iy B) x-imt = YA ¢/p =6 (6,0)
l O
Nt : i Stundavd form @ No frachons,
3+ 02 The cetfient of X must be
1 | positive , GCF mus+ be Tactored
e D) /a | |
Slope s “vise overvron” (@) Po)NT-SLOPE FoRM !
A hme contaning (< 2) Y-y, =m (x=X%)
and (-4, 10) has a slope of: '
5}0692 = m
Gde QU By 00,906 on the fik
X, =%, (o)~ -
ot Y=o =2 Ge=) ‘
@ <LOPE R oT Slope :.l) (H) VB)ﬁs on the line
LOPE- INTERCEPT FORM
| Change the form Jo slope -
Y=mx +b] niercept o determme tercepfs.
Slotpe = m .
y-int = b B aMe! hines : equal Slope
<~int = ~%m fexrpendicolar lines : neg, YecP, slope

| Horizontal line: No x teem
Y=lhx+3 YerHeo!l hne : no y term
m= Yo | Through ovigiv : no constant

=3 (03) Rz2-6(0) Aodvhovial Prachice @ 4.2
—22.-



Linear ‘Equations
PROBLEM SET (Review Unit 3B)

Write an equation for a
tine that:

D GQoes 'H'rrm@l’l ("'812) ¢S, )

{n Slope - tercepT Torm

@ Goes Through (‘5,0)(6)‘3)
n Standavd €orm

€ Goes Through 42, 6)

in point -slope Brm

@D Is parallel to 2x-y= 6
throug h (-4, &) m 0’701”1"
Slope Form

® Is paralle! fo ;‘-'".?b‘"‘"lL
+hr*cg)3gh =4, -8)$m
srandard foem

© Is pecpendcicolar Fo
= @exe_ I in standavd
-éorm throwgh (-6,-2)

@ ZIs perpendicvlar fo
Bx =29y =12 in Slope. = int

form through (8,-2)

TIndicate the slope, both
intercepts, and draw the
graph fov each :

@ 5+2-’-‘-‘-§=(x-8)

@ 3=_—L3;-><-—(o
Qx.—y:—lo
e ~ O

“Hey! You're not lookin' to buy anything, are you?
| think you best just keep movin', buddy.”




Linear Equations

ANSWER KEY (Review Unit 3B)

@© 32)5Y
@-0) _

2)-¢-5) 2

@ (—'5/ O)C(O}—%)
©)—(-3) _ =2
s)~6 M

-A_ =3 A=3

BN e=l)
x4ty =C
3E=5) +n(o)=C
~5=2C

3x+y =15

@ 421,06
D-(e) =% _4
H-) 3
4% = % (x-x,)
continved

) zx—ig =2 (3,-2)

Y= 3 (o) o
oy perp. Slope = 3

5ﬁ(9:§0§_1) 3:‘%x+b

ax-yzb (46) ()= @b

Slope ()= 2 D= +b

3—3,-1.20“*;) ' lg =b

8—@: 2 (x+4) = _§x+_—[_39

=4 x+Y ¢y8)
9% 2 / 3+2=%(x-—8)

Slope=_'jzl_

-A_-l A=) 5\oc>e=§

& 2 6.:2' - eoint (5,72
x+2y=C

D =C

-20 =C :
X +24 = 20 : |
y=3x-1 (62 AT
vecp. Shpe = 7L A
B -l 4= change;_'%fmi

B3 p=3 gr2=g0es)

x +34=C I=ExTT
)+3(2)=C y-int ='3§' (o, "%h)
-ja =C x-l;ﬂ',' = | C’\)O)
xﬁ'i& =-l&

—24-



Linear Equations
ANSWER KEY (Review Unit 3B)

/

0,10}
> o)

(
(-

2
o
-5

= —O

_4/5 -

y-int = “p =
=S =

.'_

.

Slope =
X~

T --WMQWHHHMM-MWHHMH
FHFFECCEEREC PR
w; ElE N -;;“m“- T

g o e M A A
PR

|

“Well, here he comes ... Mr. Never-Makes-a-Dud.”

Modern art critic

5



Graphing Systems of Inequalities
DEMONSTRATION (Review Unit 4A)

(D SYSTEM OF INEQUALITIES

ix—j >4 — y<2x-H

Y7
I [ (L ¥
t | 1%
T T
LR 0
|
/A0 Y | i
q ]
i/
| %
| ] | §t
] AN
' [ i
| { | k1
: [ |
{ 111 [
[ 1 (LB T i1

Always ohamge mequalihies
+to slo pe ~imtercept form
when graphing

@ ARSOLUTE VALUE: Union
Ix+y | 28

x+y 28 oC %Xty -8

Yz-x+38 ol y & -x-8
i I[ : f"l IM; )

I ] )
X AW ARV o i?

1

7R ' . 5
‘7'_' : | I '
1 . 1]
: TN
| 4 Fll ] ] |
| ] -
1 [ !
4 [l [ T+ 1
y. i t 1 |
¥ | [N T
{ | [ B I

4 P L} 11

1 { i 1
B O

@ ABSOLUTE VALUE @ Union

and Iwtersechon

l23+|| >7 and g

29H1 > 7o 2y+1<-7
2y7b 20 2y<-8

§>3 £ <) o (ge3ar3)

[ L 411
[ [N

i

< 3x+3

3 |

S

Ty e

| [ IO I
] M [ I A
! ] e
: et
l il i g |

l! l| : v"i

| } |

‘Ii |IEII L l|ll.
Additona\ Puchece : 4.3

2




Graphing Systems of Inequalities

Qruph each system

Inequalihies

3 > X+2
:j -6

A

2D Y 2 Xx-5
Y 2

PROBLEM SET (Review Unit 4A)

“Oh my God! It’s from Connie! She's written me a
John deer’ letter!”

He had seen Tanzania, and most of Mozambique was
already behind him. There was no mistake. Chippy had
done what most chimps only dream about:

He had caught the Perfect Vine.

-27-




Graphing Systems of Inequalities

ANSWER KEY (Review Unit 4A)

@ 1x-3{>y

Y<x-6

QD Y > x+2

X-2>9 oL R-3 -y

| P -
o ] — —_
t—— e
L. 71 ¥ imnpnpemtnten
- A "
. r -

.‘

M _ st -
n == -
Hluﬁmw, ettt
=

I

Y<x-3 oL YL -x+3

! 1)
L=
w

Ne soluhon

@ y2zx-5 yz-x-2

x4y <L 3

® Ix]< 4

P

T

[
il

T

Ur

(-4 xend wd y<-xi3

1.

[

—

[l

[

xX-y£3 aﬂ X=y 2-3
K=3£LYy& X+3

@) Ix-yl<3

T1

[N

=

T iyt

_IL;

25~



Graphing Systems of Inequalities
ANSWER KEY (Review Unit 4A)

® lyl<s 3x-3<q' @ [x-9]l>4 lyl<g
(..5(5( 5) &(3%3;(-5!) (x-3>‘+0_£x—g<-4)0/4‘/4(3<‘30‘_ﬁ3>~8)

; S B SO M (3<K‘L}¢:3>X+‘4)Oﬁ("8‘lg<8)
A :

i T I [l []1 ] [ ! !

l 1 11 ! '

- - o Lt | ir 'lll:
! i H ! .4
N e N aEtaadh

P-T o | L ] |

' T - i AW’

T ] [ LV WA
PARN IR i L S e RAN
+H _l -:_E?:—!;—h ' 7 | H‘l HNF' ||:‘I
; ; .:: :;a \‘ [l !I‘ :‘1 llil
I I L I — | Y |1| Y
T T T LI 'I ‘]I_ ‘Ili !II |i1 5
Ti,—;—‘r" i
] N
@ lyl>4 ax+y<sg EESEL  (EWEEES SNBEEAEEEENRRENRE

(924 of o) od (9<2x+8)

—

F | L L.t .t " 4 .
: 1t |l 10
It 1T
1 | | 1
1 !
I {
I
A b
| 1 ]
1 ] i
L H [
] [l
N =
LT
[ [
= [l [
1o [
[I
I 1 [
q | )
| - bl -
I 1 [I'
t { 1 11 a.:
(% 1| y 1
I iw | ] [
B 1| i i
] [
, L ' ! Lt The whole family always enjoyed the way
i = : - — — L Uncle Numanga could reach over

and “find” a skull in little Tooby's ear.

hgq_.




Linear Programming
DEMONSTRATION (Review Unit 4B)

() Fonction:
f(x,4) = 5x~3Y

Cond thons

X 20

X+y<£7 2 y£-x+7
C&LysLh |
3y x-3 -7 Yz Ex-|

Find +he maximum and
mivimom Values for the
Foncton subjectto +he
Srated conditions.

T }

TR
irl‘ ﬁ

} b

11

a
;

(%, 5) EX - Bﬂ
(0,8)] 5(c)-3(5) = =15] min

(0,00 5(0)—3(0)= ©
5(3) -3(0) < IS5
G| 50 -30) =|27] max
(2}5‘) 567-)"365)""' -5

23

Susge:s"‘ion 3 Use eliminathon
o gsubshtuhon +o fFind
vertices as needed,

“Hey, bucko...I'm through begging.”

@ The Blair Company makes Fwo Knds

of planocs; gpineds and consoles.
The eq u'spme,n'!‘ m The 'Fa,durg
ollows for making at most H50
spn'neﬁ‘-s‘ and 200 consokes. in one
monTh. During Yhe month of
June, The company can seend
3360,000 +o make +hese
pravos (see chart). To mox -~
imize profit, how many of
each +t3PQ shovld the Company
make ¢ How much ()fo*pﬁ?

—-20—




Linear Programming
DEMONSTRATION (Review Unit 4B)

Unik ot Uot Pofit  Addional Prachce

563'106-']' $ 600 £ 125 Problems In: 5.2
Consoe ~ $A00 $ 200

%= Spinels

5 = COY\SO)G.S
Fonchon !

F(x,y) = 125% +200Y

Condifions ¢

X £ HEO

Yy % 200

GO0 x+ 800y £ 360,000
L> (£ - x+400

N W A T
TN LR
(o, TN E300, 200018 |- _ 2
_s_'__,l_ A S R R “OK, sir, would you like inferno or non-inferno? ... Ha! Just
AN -  pENE kidding. It's all inferno, of course - just get a kick out of
ZH WEE Y ARNY ) saying that.”
AL | (%Y) hSx% +200y
. I HR i EERNARE _
RERAL '_‘42_ T (0,200) |25 (0) +200(200) = Ho,00D
| A E S, (300,200) 125 (300)+ 200(200) = 77,500
AP (450,100) 125 (HS0)+ 200 (100) = 76250
| T (450,0) 125 (HED) +200(0) = 5250
Numbers on The axis should ©,0)  [250)+ 200(0) = ©
be consictent (x and y) and
practical (allowing +he 300 Spinek
gcaph Fo be reaonable m size). | 200 Consoles | {$77,500

—3'.—
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Linear Programming
PROBLEM SET (Review Unit 4B)

Use linear programming

1o determine +Hhe maximum

anc minTmum valwes for
each Funchon actovding Jo
+he Stotec conclitions:

Funchion:
Fx,u) = Bx +3y

Condlihans
X +y 4 b
X-49v£4
I

VALY,

A
) X

@ Fonchon:

+(x,9) = 3x-54

Cond Hhong ¢
2x+\ 2 7
x-)—g_‘z_S

| £y £5
2 £ % < 7

Use linear proacammin
1o Soljve ! i 3

Wmnbeld Motovs has
enowgh sales personne| o

@ L?ons Fantand Wellpaper
o a

sell vp 1o 00 Caxs pex month.
To meet manvtacturer’s quotas,
the ompany must sell at least
30 large s12e Cars buT no morfe
than 60 each month. They
must also sell at least 20
Compact Caxs but no more +Han
60 each month. They make
$455 profit on larae Corns. e
10 a 'f‘%f‘i‘o@ recol\l) they lose
¢$125 on each Compact cav.
How manuy of each should be
sold Fo Mmaximize protit ?

ver Hised a special Sale on
two Colors of gaint: purple
and green. To miX o aallon
of each ¢olor; 3 diffecent
dyes are used :

Dye A Dye® DueC

Humks lunit 3omits
Q2unks  8umk Hunrks

purple
3 reen

To mix The pamt, the store used
ot least 44 units of A and BG
anits of B, They used gt most 6&
units of C. Because of the sake,
‘Hng logse $.30 pec grx”on o'Fpurple

and $.08 peraallo-n O‘F&(Qen.

. Selling how mich of each coloc witl

minimize losses ¢ Maximize losses”?




Linear Programming
ANSWER KEY (Review Unit 4B)

D xtyse —> yE£>xre
X"':jé - _tj.?_ X"‘"
X2 |
y=-a
— M H
IE ; i 1 “
= Rase
i EEEE T
|}
4' bl |
E '1 _Jg H “Couldhyou c;:ms{ bacl;!ater?
T e’s catching a few’s right now.”
¥ .
EEpra N SRR R
(x,4) Bx+3y TR AT *
= A \BwE § 7Y T
(HS) 5(.')+5C5-) = 20 I I A g -
(I}—:.) s)+3) =[=1] mm i a
(5,1) 530 = [2F] muy A .
Gr2) 5G+3(2) = 1§ (230 )
2x+ Y27 7 Y2 2x+7 ‘
X+y2> Yy2z-»+5 |
|4 445 E e
(x,9) 3x ~ By C @) 3e)-50) = 7
€z,2) 3@)-56) =-9 (5,5 3(D=5(5) = -4
(2,5) a()- 5(5) =19 min (7)) 3 -50) = lie] max

~32-



Linear Programming
ANSWER KEY (Review Unit 4B)

@ A= large S12¢ Cars

Y = ompact cars

X+Y £ 100 > Y£-x+I00

20 £y & bO

20 £ x££ 60
HEHH T g
I | -
TR -
Iz - -
SRl al NCHTAT
¥ T

- ™ / ‘a: %' :

(x,4) 950 x-Sy

(30,60) 450 (%) ~ 125 (1) = 21,000
(40,60) 950 (40) - 125 (60) = 30,500

(b0,40) 950 () = 128 (4o) = 52, 000
C(oo,jzo) 350 (&) =125 (20) =[53,50)
30,200  950(30) ~ 125 (20) = 26,000

6O lavge s)ze (ars
A0 Compact cars

$ 54,500 prof +

@ x = gallons of purple
y= 3a\lon5 ot green

Dye |

A HxtyZHE  yZ xR
B x+84 256 jl'-é-x-}-?
C x+4yf68 Y&Ex41T

| | 1 i
| ]

t
]
I~

:
XN
[l
I
[}

EERN A

1 | 1 1
] iy

;
¥ T

1
]
[}

L. YL i
1
H et

(x,4) -.3x—.08y

(& 6) -3(8)-.08(b) =-2.53
(4,9) -3(3)=-.080%) =-2.32
(b,3) -.3(b)~,08(5)= ~5.20

TO minimize losses:

4 aallons of purple
14 gatlons of green ~$2.32

MNaximum loses .
b gallons of purple
5 gallons of green -$5.20

34~



Q{acfiba[s

DEMONSTRATION (Review Unit 5A)

@ SIMPLIFY RADICALS (@ RATINALIZING
N .2 5_3ls
Og 3;2)< = H'XIE )\[E 22 T—S-‘“* e
b) 3L 7= =2 b 3b
e = e o E - 35 E_ET
3 b 3355  2b

o) UaEb%% = lalb?c Yab
Q) 3={3 _ 33,6283

@ RADICAL OPERATIONS Sver- Sl ey
a) \4/ lox*y \4/‘%%35 1B-E-eE e _ 2-3
' 36—l T

Q[equzj ' 325'3-{55
NN O PN () RADICAL EXPRESSIONS

L o)
b) BNz7 + 3 - THe \\—5—*\]?*'\53

s\& +2yZ - 7aFa {;%
5V + a(T -3 =-IE ¥
E + ‘(?5(% _,_5@
&) (6+4%) ({5 +I5) >
Glio + 608 + 20 +JT0 H%E.J.g@
bV1o +6V8 +2l5 +|io '
7010 + 8ls
Addrhona) Prachce
D (o W2 -V3) Probbmsa‘w
&) - (z)* 6.1 6.2, and 6.3

b-2 3= 3 (conjugstes)



Radicals

PROBLEM SET (Review Unit 5A)

Sﬁnpﬁfgi
O \]‘16({‘5@6" @\lS'-\x-"g”z" @5_:_@
@ Y-81x747 @ Y22 a"b® s
© i ©Ysave 3-2l3

-3

Radicad Opeyations
@ Yy - Yloxy?
Yobe” - Y6 ac
N2afb5ce « \[8a b3cH
@ 307 +{3 - 3027
® ~315 -\t +H2o
@ (4-GYHRE)
P E+E)EE-E)

. , > . "o, Helen paused. With an audible “wumph,’ Muffy's familiar
Ra:h O'ﬂ el 2e, and Slm P h % ' yipping had ended, and only the sounds of Ed’s football game
now emanated from the living room.
3/ 2

20.
f’{ >
3ax*

_56—




Radicals

ANSWER KEY (Review Unit 5A)

O VF6a’bc? = P P PN € -3{95 - E + 420
@ s4xy=" = 3><§’%’\_I6,«9 -4{5 - _ESL + 88
® G = -39 B
| 5 5
@.%}—31 TL8 = -Qob S[Yab> o
‘ qr—————t — ® (H-V3) (4+{3) = 1b-3= 13
T4 = f- 7
& 32.)4 JF 2%yl 22y’ M R +E)aR-B)=6-3=5
@ \}q Rlalb’c® = 3a1|b C»]”x‘al:ﬁc" e '
| | - ® i)éﬂii.ﬂ_@::*mz
@ E}?Xz}jaz. . E“bxa"‘ 20
ifze‘x-%le = Hxy Jyr2 3_'3_‘____33 3ax_ fex
32Ax EI_S_J.X" 3\[3; L_j_x
6 qu hl-b 7 . 3'6 C?_
@ 3 T : @) 2a-{8 3-8 _ b-al5305+5
\Jg._g?’.asbcq = 3cxc3m 3-5-\]—5—' 3~s q‘s
| . 11-5Vs
@ ”\!szgsz‘{" W | g
’ - 3| ‘ . :
\J25x53|2-23 2)('3 Iz \?I&X 3_‘&@ 61-\13 18.{.35__‘21_3‘__&

® 2=+ & -3{7
b (3 + B - 9z

NEP S | 63 63T 3673
‘ = Py 2 — N3 H=-203
U5 3a55° = Rabe® Ybatbe Bl 15;

3
@+ & 273 -sf
33 3 =Y

__37 —_




Radical ‘Equations
DEMONSTRATION (Reivew Unit 5B)

Note: TF a variable appeats in the tadicand of o roclical
equathion, you must check all possibk selvtions.

D RADICAL TGUATION 3 Two RADICALS
"\]x-H(o + x =1 \IU-)—I’.Z +| = kel
(x+6 = I-=X yrR+ 2{gnz +1 = Y+2l
x4+1b = 14b=28x +%" 2{yrm = 3
#x2-24x +150 =0 W = 4
(x-q) (x~20) =0O

Yyt =16 Yy=4

%= 9] or 28

Addhom) Prachce: 6,4
@ cuseD RooT |

J3n-1 =2
2n-1 =8
3n-9 =0
a(n-3)=0
n=3 |

Note: Yoo must sokte +he
vodical before squaring ov
cobing both sides of the
equotion,




Radical ‘Equations
PROBLEM SET (Reivew Unit 5B

Solve each radical @ Jx—2 + X =5
€quation ; |

| ® JpBx —x =4

@ \];sz -l =X @ \313n+1 -3 = -

@ {2x+1 -5 =~ ® Jix+7 -5 =%

® fxr7-x =3 @ V7% -1 = b=
@ (375 -1 = -2

The committee to decide whether spawning should be taught Knowing the lions’ preference for red meat, the spamalopes

in school remained calm but wary.

....:))Cl...



Radical Equations

ANSWER KEY (Reivew Unit 5B)

r=4

2+ -5=71
Gt =4
2x+] =16
Ax=

xX=5

@ 3x+7 -x =3

J3x+7 =3+ X%
Zx+7 =9 + 6xrx*
xz4+3x4+2 =0
(x+2) (x4 =0

X = ~2 ov ~}
\]2n+lo “-n=5
{2n+10 = S+n

2n+10 = 254101 +n™

nN*+8n H15=0
(n +5)(n+3)=0
n=-3 o -5

Nx-3 + X =5
NP

-2 =28 —[0X +X
®2-]Ix +2& =0
(R=~7(x~4) =0
*x=4or 7"

@ Jio+3x -x =4

Vio+3x = 44X

10 43X = Mo $-&X +X-

X*+BXx+b =0
(x4+3) (xR} O
X==3er—2

@ \3’5n+3- -3 =-
S

3n+2 =8
An=b
Nn=2

S\I.L}xiﬂ -5 =-4
Hyy7 =3
Y47 =27
Yx = 2.0
=5

@ N7-% -1 = {x-1
T-X ~2{7-% 4| = X=&
—2{7°x = 2x-|0
\7-x = B=X

7%= 2B =IOX X"

)g}'-—q;( +18 =0
(x—)(x-3)=0

X=3 or &

@) & -1 = =2

X3 -2{x2+ =
—2{x+3” =
{X+3

=3
x+32 =9

bucks? I Sa-d

“Hey! Do T look iike T
g6t a hole n my had?”
But seriously, fo




Rational Form e# Radical Form
DEMONSTRATION (Review Unit 6A)

(D FRACTIONAL EXFONENTS O gl oy Yo, ey %o
2 « gxponent of radicand ! m_,‘ ; mg - 2T

53 & index
L radicand

. 2 |
| foem: B
RafﬂOY\)Ob M @ NEGATIVE FRACTIONAL EXPONEATS

Radiaa) form 1 s> of SEE - I { 8% g
- 5 = 5:./5 = 5% . 5\}3 = 5
@ (onNDITIONS FOR  Rehional form? 5%¢

SIMPLIFIED EXPRESSIONS

Radital Torm Q/'E/é

NO Y\ega:h\)Q QXPQr)evﬁj : '

No frachional exponenits n
+he denominator p—

No complex Frachons ,

Smallest ndex POSS“IB\Q

® RATIONAL Forkw
Cl) 27% = (33)-5= 31 = G]
b) 8%' '-‘-(23)%: 232'.-.-. 16 2=

2§x% = 22%% = Y75

@ RADICAL FORM
o) ¢[75 = 52 = 5%=5'/3'___35.
2%53/223/22\1‘2?:;‘323,2 ,bﬁ@

Beginning duck

._..LI |_.




Rational Form ¢ Radical Form
DEMONSTRATION (Review Unit 6A)

@ MULTIPLYING / DIVIDIN G

@ phn s tp¥s

Rotonal foem 1 n - /e
Rodical form ¢ n &

’ ?43_/;_; = (sR)(@%)= R E)™

(93" G EH)= 3

Ratiomal foom ¢ 3“/6
Radical Fform 7 i = ENEE

@ RATIONAULIZE
a) av"\o

=\
O“/s._ a V3

L) a’- b
a"l + b'll

@ SImeLt Y

=) I/ -
Fro R 37 M

@EME™) = 30"

Addihional Prachce
Problems in ¢ Lland 1.2

Primitive theme parks

’ 2.
o2 _ph ' ah_pk (a">- b'!z) _ o- 2o b e b

O\‘h‘-l- b‘b. a'}:._, L' -

_ (avz)’-_, (B'i.z.)" B o - b

._.L.}:Z—




Rational Form e» Radical Form
PROBLEM SET (Review Unit 6A)

E xpress in 5|mphﬁed
rational form!

® \/39\x53
@ €/21afbéc
A b

EXpress in Ssmphﬁed
rag\cd form

3 YDt
@ Q[(?Bsx*_‘js)z
@ q 9/5 x ’/2 \(jsfé
® bk b7

Express v both forms:

@ L.}"/B
8"/"}'
@ (@k)(a*)
@ (") (™)

®

Rahonalize and Simphfy

x5 Y ™ al2LA
x"’ls_ x 75 M o
a'/:._,_,b _,(’2._5'/2.
a‘l:-_b N +5'/z.

Smphfy (rahonatize

needed)

lx_&j

‘ o L_)S
) <‘+a b )

oh, gmar There

zg S




Rational Form e Radical Form
ANSWER KEY (Review Unit 6A)

i K y74

© Far =

5/4)(‘3”4:3

@ W - 3%.0.% 6o
3abc
.
® ”0%/3__,(24 A_ 2
@ 125%- (@)= 5725
© aaw - V¥
g%al% b% - Bl"/sal EZ)/s
.50.2 3'3‘—"52_
Bﬁqus/q&lc%,: 33}")(1357"

3}(132 r—‘-a g

@ 4 g % V.}_:js/é, - @z)?sx V,_j sk,
38/6 x%j%.-_-, Bm;
2 b\JOngjsf

“ovsas/" ],3/2._. @4 ’/3Q5Ab3h_
Dﬁéash 53/2 = Qmﬁzasﬁz b‘sﬁz.

2ab 358 = 20b{TeaE

.27

-3 _ -) g |
@ 4 =@ "= 5%
b 2'5 _ '
;2:7’3 2'/5 - 2
Y
Rotonal Bem s 2 %
RO\.d\'CﬁJ 'FD(m - W

- -}/ -3 ,
g =M= N S
| ) 2'/"!' _ 2 Yy
23}4 ;l/q - 2
7/
Rationad Torm :_; 4
Rodical form @ Y=/
@ CEDICOE i3
nErd %
Rochonal form ¢ o2-a'le

Radical form 1 o>

@ (n ‘/1) (nq/5) < N

o + Hho 12
n otz g ho

b+ Ys

Rotional Toxm i N no

Rodica form 7z nn? |
| | )

NI Y

) ~xE




Rational Form e Radical Form
ANSWER KEY (Review Unit 6A)

@ 0\’/5 b’/; a4 0\3/4 L'

s, o ]

o By oM | +a

a>~b  arrb Gy

@ a—""'"-"-"—“"",/l -f—b ) ai/l +'b - (a‘ijl'.;-b) *
Vo,

o+ 20”h +b*
a-b*

><1-§j%“ ' xl._jl/z.z (xz__j;/l)?-
x;__)_:jf};_, | Xl-}jlp' O(:j'tciju,,).l

AT 31 + 4
x't -y
@( 73 )-3 x*
22..% 3—3/3 - ;-(,x-?,ﬂ
;26>< - LY x
Y Y
| ] ;
a/"£3> /2': a'}‘*b'%/
dab?c R Ve
Yy Yo tho
i /za/4a lc A _ Za:%’CVZ‘
5 193/1 - LDS/Z

Za%c'/z‘ b2 paMblk
bR PR T B3

Thirty years had passed, and although he had no real
regrets about marrying Yendy, buying a home, and
having two kids, Peter found his thoughts often
going back to his life in Never-Never-Land.

Remember: No Frachonal
exponents in the denominator
of a Simplified €xpression.
You wust rationalize i

+his problem.

-_.45..




Imaginary ¢& Complex Numbers
DEMONSTRATION (Review Unit 6B)

@ THE IMAG INARY UNIT

a) BB 1BLF =15
5 56 = A6 =
O (3 )({F2) “(f5) @aE)

243q = 6A* = -6

Note i You must remove +he
negative from under the

rodical before mulhplying

rodicands.

Note: The A uwnit 1s only
wsed to replace negahve

vadicands if the Index ;g
e ve. |

S)'mph'fb{ng powers sF A

..|=l -1— .3:-, '4:
A /L)/L--'l),{_ 2, A |

IMAG INARY SOLOTIONS
Hx* +45 =0
Hx*=-HS
x* = "_"*‘“5/{}
X = f%ﬁ
L= 23,8
2

3 coOMmPLEX NOMBERS

&) (b-54)-B-24) .
0-64 -3 +24 = 3734

B (b-14)(++34)
244184 284 -2 A '
24- 104 -2lA> = H5 )04

) Moliplying Conjugates
(3 +84) (3=51)
@) (Bi) = 4-54t = 34

@ SIMPLIFY ComPLEX NUMBERS

3+74 Note! A umt cannstbe
24 n the denominato r

ZTA A BTN TR
24 A 24> -2

T7-34 Note : oword negah've,
2 deviom inactov

Addtonal Prachce
Poblems n ¢

72 and TH

—4b—




Imaginary ¢ Complex Numbers
PROBLEM SET (Review Unit 6B)

Compate and simplify !
O (H2)(EL) i3
® GG ALY
& ()(F)
@ FEEEEE)

Solve :
B 32 +4a = -
© 25n*+27 =0

@mpo+€ and Simplity :

@D (a+30(5-41)
® (L-64) (2-8EL)

Multply conjugates:

@ (H-64)CH+64)
2+ 1) (3~ 74)

Symplty ¢
A 4-24 @ a+34
34 54

B 3-24 QD 5434

244, 5-31

| .

i

il ol

o | AR 0 P

High above the hushed crowd, Rex tried to remain
focused. Still, he couldn’t shake one nagging thought:
He was an old dog and this was a new trick.

_L.}‘7._.




Imaginary ¢& Complex Numbers
ANSWER KEY (Review Unit 6B)

O ("f‘i.l)(5k) (24%)

H04i0 = HOA* = -40

@ GiH() (L)
bi?= 6i*=6

@ {6 )(F2)= (o) i)
24203 = 43 = ~4{3

@ ®EO)EE)(R )(AJ" Jai)

243\1—;' H4i3e = 46

@ gnz-i"-}l =)
n*=-54%
n"'—‘*‘IS
n = s b B3
n = t3id2
© 251 +27=0
WBn*= -2
Y)l:"l?/gs
n= _i‘ﬂ—'l7
Y
n= £ 3403
5

@D (2+2.)E-44)
|0-84 FISL —laA™>
10 +74 -laa™ = 22 +T4

. (6-61)2-84)
: 12 bk~ 124 FHEL®
1 604 +IEAT = 36 ~60OX

@) (4-64) (++6.4)

Y= (6A) ™ =

6 — —364% = 5

(3 +74)(3-70

0,

®

(2)*-(74)* = G- 4> = 58

H-24 A -0t 2490 2-94
AL A 3t -3 3
230 A 2413T B3P 3K
54 A 5 =5 5
3-24 A b-tru”
2¥AL 274 @y Gy
o=TL+24*_ H-T4
H-i* = S5
5+34 58 _ 25+304 +9.4>
r A
5-3 b"".‘gﬁ C5) '(3&)
[6+304 _ 161304 _ B+Si
25 -~ 34 17

48—




Quadratic Equations
DEMONSTRATION (Review Unit 7A)

(D FACTORING

3T =10x-3

A% - 10Xx¥3=0
Sx2=q9x -x 3 2 0
3x (x-3)=1(x-3)=0
(x~3)(3%x~1) =0
x=3 o3

@ ComPLETING THE SQUARE

2m*-8m +3 =0

M —Hm = "3/
m>~ Hm = At
(m=2)> = 3/

m-=o. = :E@AS:

M- = im/:_
H +{)a
ms= T3

@ RUADRATIC Foemum

2 *:-Bx +9 =0 a=3
b =5
= Gspaane) c=19
2.(3)
x= 5 =%
' b
x= LY 1‘-&@
b

@ GUADRATIC FORMULA
Thyree Soluthions

(x-3) (x>+3x+9) =0
~(32 &> 2500@

2 Q)

22 {27 3E3B
2 - 2

—
—

A=

34343
> 2

4
X=3

&) sPeclAL COEFRICIENTS

o +abx rabt =0
%z + bx = -h*
b* 2, b*
1 3 2 - _ 2
x* + bx Y b 4 =
B/ \L = br—4bz -3
x + B/2)" = . 3K
‘ ) 4 =+
+ i3
-

x+ 3 -

.

Add thonal 'Pmc:h‘ce
Problems in ¢

8.l
—yq-



Quadratic Equations
PROBLEM SET (Review Unit 7A)

Solve bﬂ —Pac%fnn‘g:
D 2x2-|)x +12.=0
@ Jan*-n-1 =0
Tmaainavy Griswess are
accaé?oJrab e Tor all of

+he following

Solve by tompleting
+he Squave

@ 4x*+&x -6 =0

@ 3x*+)ax -8 =0
Solve by using the
Guodratic. formola:

B ax*-bx+7=0

@ ExZ*-Yx +& =0

@ n*=¢

® x>=|

Problems ¥1and ©8
have 2 Soluhons

Solve biﬂ completing +he

square "
@ ax®+b*x-c =0

Ox*+03x+a% =0

“Well, this guidebook is worthless! It just says
these people worshipped two gods: one who was
all-knowing and one who was all-seeing—but they
don't tell you which is which, for crying out loud!”



Quadratic ‘Equations
ANSWER KEY (Review Unit 7A)

D ax*-lIx +12 =0 g= 620 _ 62245 3:ilE

Ax> -8 -Ax +I12 =0 g o >
ax(x-4) =3(x-4) =0
(x—4) (2.x-3) =0 |
x= 4 or 3 @ S5»*-4xt&=0
« = TEDTEN- 450
@ ]anbn -| :O‘ 2 (8) i
lan*=4n +3n-1 =0 ' ‘
45 (2n-1)+1(3n-1) =0 x= dEN-Igy | 4T RA 2de
Ba—D(n+1) =0 o 1o s
n= "3 or "4
D n’=8
® ‘+xl+-8’>( -b =0 n5—8 =0
> 2% =3, _ Cn-2)(n*+2an +4) =0
. =3
? +l§:~.f‘5‘h_ /2] n= ~ax {2 - 40 Y4)
x FF =
x+i =15 G _xlo | 200
V= @ = oo 2k {Ta_-aE2dl
> n= &)—II/LG
© 3x*F+ phx ~ 3 =0 |
I e = 8/3 @ >(B = _
)41+"+x+-"'}=‘§,5+‘-i x3-1=0
G ™= > (x =D (xF+x+1) =0
X+2 = t%_@ % - :t:zju: PN G
- -b il@ 201)
° N e Ak
= — = =
@ AxF=bx+7=0
= —(=b) T{(LYF -4 x=1, )
2(2) pe

-5|-




Quadratic ‘Equations
ANSWER KEY (Review Unit 7A)

@ ax®+bx-c=0 ax*+a*x +a3= 0
b2 _ ¢ ‘
Pk s & x>+ ax = ~q*
- X rax * A = oL
bl +3\->< 'i“_m,_ by + = H 4
o+ B2\ bttdac &+S = atMat_ ”
C*am) = o > 5 9
NS N o Fae T wpd o E3a xail3
K 28 o, -~ A 2.
= b+ GFrac w= —oxails
o 1
2a

Douglas is ejected from the spoon band. Humboys

-5a~




The Discriminant, Roots, e Quadratic Form
DEMONSTRATION (Review Unit 7B)

@) DISCRIMINANT VALVE

Value Roots
O : | vational
+ (per sq) 2 rahonal
+ (on persq) 2 \':rrod‘i.owai
- 2 imagmary

a) Hx? +20x +25 =0
b*-4Yac =0
| voohonal root

b) a* 40 ~12 =0
b*-toc = H4
2 vohional roots

C) x* +5x-3 =0
b*-Yac =37
2 weahona voots

d)ﬁw Fiy +5 =0

Yo = -4
S 1ma9mag Y‘DO“‘-S

@ Som AND PRODOCT OF RodTR

ax>+ bxyC
_b/a produd'-'-“ c/q.

Find a guad catic equation
with the given roots !

sSum =

Note: No 'Fm_ch'ons

) s, 6 sumi'%B pued: -t
x*-lox ~4=0
2x*-lbx -12=0

b) 52l gm: D pred: 29
X2 -10X +24=20

C) d—g) r Sum ¢ 2_ 6)(‘&2\ -15—
x> +gx5 -2 =

C2xFy x {8 -15=0

@ The QUADRATIC FORW

¥ A) x —7Vx ~8 =0

R -7{x-& =0
(% -&) {x+1) =0

X =8 Vx=-l .
x=td x =X does ndt check

» b) X% -ib =0
CORSL
(x ) (xB-) =0
x”}: -4 XV5= "i
x =~ X= 64

&th dncwers check. (Frachoml

exprnens are hke radicals =
check variablks )




The Discriminant, Roots, ¢ Quadratic Form
DEMONSTRATION (Review Unit 7B)

c) xq—l3xz+56 =0
A~ 13x* 36 =0
(x> - (x>-4) =0
O 13)-3) (x+2) G2) =0

x=x3, 2

d x*t-4q4=0
&> =49 =0

(x*+7) (x*>=7) =0

xr==7 x*=7

x=zjfp x=+7

x= tu7, x{7

E)'nb—"ln?’w\g =0

@3 -an>+& =0

(n3-8)(n3-1)=0
(n-2)(n ™ an)(n-D*+n+)=0

23w | = 1EVor= s
=1¢)) 200)
~a {12 -3
2. 2,
N - - N3
J | j:/LE "V | i:‘;_lr
A \
= NPy - 2 A3
n=a, -l I*“E) I, =5

* Answers jn @) and(B) musth be checked

Addthonal Prachice

Problems m

.2 and 8.2

“Most interesting, ma'am—you've identified
the defendant as the one you saw running
from the scene. | take it, then, that you're unaware
that my client is a walking stick?”

_.Sn.} —_




The Discriminant, Roots, ¢ Quadratic Form
PROBLEM SET (Review Unit 7B)

Use +he chseriminant +o
deyermipe +he noatvre of
+he voots ¢

D 2xz+3x +5 =0

@ 2x%-4x+l =0

B HyE-ax +9 =20

@ 23x*_2%x-3=0

Determme +He Qqua‘hbn
for a quadeatic wrih the

gwen Coots ;
®& h,4 ©O%,H
@ 3+4L @3,3F3

Solve the Tollowing ,
equations jn The guadratic
Hem

(@D x -6{xX +8&8=0
© x - Bx -6 =0
@ x* -4 =0
@ %P -4 =0

@ xt-5K+4 =0

) x*-10x+94=0
® x*-25 =0

© x*-9=0

(D xB-28 x> +27=0
(& x°-64 =0

“OK, Bill. Tuesday night, 8 o’clock,
over at the sheriff's office where they're holdin’
your brother’s killer. ...
You want.that with extra hellerin'?”




The Discriminant, Roots, ¢ Quadratic Form
ANSWER KEY (Review Unit 7B)

(D) Ax*+3x+5=0
b*-Yac = ~3|
2 ymagiaty roots

Z) Rxr-Yx+1=0

b*-Yac =4
2 vational yoots

@) Mx*-jax+4=0
b*-4ac =0
| yahonal vootT

@ 3x-2%x =320
b>-Hac =H0
2 trrofonal poots
@ ‘Vs) 4 Sum:”/g ()rod-’_\-}/:’»
x> =%~ =0
-l x =<0

@ %5, % smi'%o prodifo

20 x*-{3x +2 =0

@D 3%£44 smib pedia5
x> —bx+25 =0

@ \1?) ,%_g Svm:'f’;E pru:l:-él
X -53%2 =0
3x-x[3 -6 =0

@) »x-6{x +8 =0
W) -6{x +& =0
WR-H(X-2) =0
Ux=4 ) YX=2

x=lb ) X = & both answers chak

© x-5(& -6 =0
Ax)-5ix -6 =0
(TR ~6){XH)=0
V% =6, VX =-| |
x=36, X34~ & coes notcheck

@, xl/s— 4 =0
(x%)*- 4 =0
(x5 +2) (x5-2) =0
x/5=2 ) x5z,
x= =32, X =32 & both check

@ ><l/3__ l—} =0
-4 =0
(%% +2)(x% -2)=0
1 t
* = 64

x‘-} -5 x2+L|- =0

oA =5X T+ =0

(x =) (X*= 1) =0

(x +2) (x=2) (rFDX-D =0
x=t%:|




‘The Discriminant, Roots, ¢ Quadratic Form
ANSWER KEY (Review Unit 7B)

(9 x*-jpx+a =0
210X +4 =0
(x*-q)(x*=I1) =0
< 42) (x=3)(x +HD=1)=0
x=E3 +|

B x*-a5 =0
H*-25 =0
(x*+5)(x>5)=0
><.2'=’5 )(1:6

Y,
o :i/ug-} ;(:_'}:B
x.:_tixjg; e

@ x*-a-e
x99 =0
(x*+3) (x*-3)=0

2 _3) Xl:5
x=£iV3 113

Incredibly, Morty had forgotten to
bring a pocketbook.

(D x®—agx>+27 =0
(x¥)-28x3 +27=0
G3=27) (x3~1) =0
(% —5)6(2'-!-3)( +‘l)(><—!)(x"+>< +N=0

=32[32400@ | —lxJ1= 40X

201 20)
-3 =27 —1£\-3

2 2.
323403 NPSREY

v 2. / 2

x=3 x =

~3434J3 NEPI

@ x> —64=0
-6t =0
(x2+8) (x>-8) =0
(e 32) (e E=axr ) (=2) (% +4)=0

~DENREION | -2 [ 40)
) 30)
2% {2 -2 S
2 2

\t/ EOE) NI EPVE

X==2 ®=2

Y = j:;z)rpr,tﬁ




Graphing Quadratic Functions
DEMONSTRATION (Review Unit 7C)

Name +he axis oJFs mmetr
gmph Tndicote ‘Hﬂe voots Creal or ;Moﬂmar_v)

CD Y= xz‘—lx +7

b

axis: x =2 |[x=}] axis

M= 20) +7=6  (CLE)] . pT.

X

8] -7

20

(o) 200)+7=7

Sl @i aE@ T = '0
2 [ 15 )*-a2)47 S

X*=2X+7=0

- &) x \ESEEYOY6)!

2. C)

E<= | 2 A6 | roots

@ y > -x*+6tx-5

(g ¢ —'_;b. = <
ax1s ! x o X= 3| ox

-G+ 66)-5=4 [(3,D)] max. ot

X 13
213
S
O

~(2)*+6(2)-5 =3
~-{D2+6H-S =0

5 -(o)*+60)-S -5

~x%46x-5 =0
*xZ—px+5 =0
(xS)(x-}) =0

Xx= 5, |

x <) e x >5] rochs

and the furnin % pom‘f‘ Deraw the

Vol : 1 LT L S N S WO B
i |t T | T T[Tt P Tl
T i ] 1 R
1 | t 1]
| 1 ill
i
L ] ] [
[
1 {0
i [l
| :
|
{ 1
1 v
i | i [}
! [
1 0 T
] !
[
'L
7oy 1]
T ! IR
; T 1 iyt vl
11 | | [ [
i I I [l I
| | 1 [ [
i [ |!11il
] [ NN
] [ L I
, 1] | Voo b
; T1 1: P b b 1t;|i!i[[l:!
Pl T | l [ ™
F ﬂ I|"15-.H [ !’N ~
o | | T
[
I

frdisi8d

iy
e

1=
! I ! 11 1t
t

Addi"n'ona\ ?mc'ﬁce.
Rroblems in: 2.4




Name +he axis of symme

Graphing Quadratic Functions
PROBLEM SET (Review Unit 7C)

and Fhe Furning pomt. Draw

+he graph. Indicate the roots (veal oc imagy mnary ).

S
s

@
«
1l

x2-6x + 8

@ y =-x*-6x-9

x23+2x +b

e we come To our
Sﬁﬁmafed Kitchen floor Testul’v‘ T
Miss Cranshaw doesn't like whaf o

N

e
o = i
R

ﬁg; Sﬁevens.. J'F\elu;f;‘
4N sal esperson Q
Tovkosl Shoud T push imot

Inside tours of Acme Fake Vomit Inc.

Sumo temporaries




Graphing Quadratic Functions
ANSWER KEY (Review Unit 7C)

@ Y= xz'—b“&"f—g

* . ‘—b
axist x= 3= X=3] awus

G -bEY+E = - (37D

X

M. o,

2 10 @68 =0
]2 oy ~ep)8 =2

Of{ %

x —bx+8& =0

CQ)L—' 6(0,)+8 =8

—(-6) FD-HO® 62 T

2 0)

Yoot+s

x= 2,4

@ Yy=-x"-6x—9

. ~ =b =
QXIS L ¢ = A \X'—“B

~@Y-e@)-q=0 [3,0] TP

X )

2.

oxis

2 | @e2)g =

~1 |-y
O |-4

..x“‘-éx-q =0
x*>+bx +4 =0
x+2)* =0

X=-3| roots

~D6 (-9 =
~BY-6(0)—9 = -9

-----

. Vil

] [

T |

[

[
]
]

1 |
¢__.T A

i

| :

| : ]

] | 1 |

\ : l

]

1|

[

l D
i 1

1 | ] T

1 i [

[

14

! [ i
i T L
$ 1 ' | 1
i [} [
! [ T
] I LT
{1 T4 s i 1§11

T 1 IR Tt

1 L.
Il [N

§ [

1 I

1

{ 1

1 [

i T 10

. 1]

[N

| T
] T
1!-_

| ! [

| [ EE

1 [

| 1 KN

] ] [

[l [T id

| [ [ [
I | 1 )
i ! 1 1 IR
| NN
| 1 ;11
| T

[ !

[ LI

| [ B
N IR

H IR
t N
1 LN
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Graphing Quadratic Functions

ANSWER KEY (Review Unit 7C)

x= == X=~-l] axls |
EN+2(-) +6 =3 [CL3]oF
e

ol 6 ©Farb6= 6
119 oy +2D+6=9
2| M @Yy +202)+6 = 14

x*+2x %6 =0
222 6) -2+ 2405

2.0) %

X =

X = -l ri@l roots

x= 2| axis

~(2)*+ 4()-8= -4 ‘(’-;" )}m”‘-f’t

X |32

b D5 (D8 =5
0 |-8 ~)+()E= -5
-l |3 —EpryE) e = )3

—x*+4x -8 70

x*+ -4 x4-8 F0

e ~EDE G HOE) _ 4 4l
2.01) B

Yoots

X2 2X2A

il ! L] I [
I | iy T [
i | | i '] Pl
: | ] ;
! | [
[
11
] [
| T3
EERREE |
H |
| 1 !
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i 1 1
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Graphing Quadratic Functions
ANSWER KEY (Review Unit 7C)

® YL -x*-10% -
_-b
A= 24

x= -5 axis

—(-5¥-1o(=5) ~244 = | __—__l(_m r;::x

212

4o —e=loEp-t=o
-3|-3 -@y-o@E)-24=-3
~21-8 —(u)*of2) ~244=-8

~x2-|Ox =24 =0
HKE4Dx +24 = O
()P =0 x=-6,~Y

—b 4 X <-4 voots

® Y< x>-sx+n
_-b 1 +
X";_Z qui ax\S

- 5wy +12 = = [ min. ot

p S
2 | -3 GY-&37H2= -3
2 | o GYy-&gl)+H2z o
L |5 oy-80)+2= S
X >=~8X )2 =0

(X-E)Cx-i)zo
x=6,2

-4 ety =}

.—bz_




Rational Expressions
DEMONSTRATION (Review Unit 8A)

For +he purpase of this review onit) it is assumed Fhat all
values ave real and That variabks do not have 4o be

qualiﬁ'ed. Denominaters #O.

@ DIVIDE AND SIMPLIFY 3 CompLEX FRACTION
%= e w Y+ + g'_%— (5&-1)(5-5‘)-;-10
% =259 " ox+5y : - (95
' ,._:!—. + A M ""1(3‘5)
X - X+5Y ToE)

Xl_lsﬂl %

(2) SUBTRACT AND SImPUIFY

x¥4 x4+
2x—8 Yx—1b

x +44 x4
20x=H) 4 (x-4)

2 (x+4) = (x+12)
H (x~H)

A% +8 =X =12
H (x~4)

A i
4 G0 4




Rational Expressions
PROBLEM SET (Review Unit 8A)

Calculate and simplify |

LY ———

x> =1 x+H

0 XZpax+3 x|

N“+In+12 N385
N3 8n +1D N+

@ 2Zn2-Tn¥3 . Nn-3
n=-9 T

L]

@ x*—1b RIS
Gx= % - 24\

@ N+ 3 _ An-x
n-3  H4(z-n)

@ X Bxr¥2Y
2x=~Y + 3(3-2)&)

Simplfy each omplex
frachion :

@ = _ _1_

X-4 2x-1
3%*-10x -8
( X2 EX 16

@ 4. ® .2

2 + Yl"'“l g n_‘
n=Zn-3 2n*42In—-i
' (21’)"—”“’) n*+2an-3

“So, then, when Old MacDonald turned his back, I took that
ax, and with a whack whack here and a whack whack there, I
finished him off.”

-




Rational Expressions
ANSWER KEY (Review Unit 8A)

@ X3 x-l @, (N-3) + ()
ol x+4 | pF2 N3 L () (-d)
n4n - ) G -1) (n+D
4 +
KHY (3 (D) _ox+3 ( T2 ST

GAD A (xr9) AP
G ) Nl

Q@ p*+ e ws DD GaDir) -an=3
nt+gn =15 Nt
M(vmcnﬁ = | _?=4.. - __l__\_ 2 (2x-) ;(l O&;D
S (3 Cprd D 4 2=\ GEREED
(pxé )g) 3x"—~)0x—8> (3)«"*2-) (=
20 =-Int2 - n-2 (x‘-—gx-&-lb - (=-4)
N9 T onea
I S ) (e N B
G -D()rS) cgé) CDex) G D 2x-l
N RCEN |
’ B 2m-D +4 2n+2
xX*-1b . x @_———~—-~1+“" L N
E-x—2  ax+ | (n *an —5) (D13 (o) (3)
CeDOFD () e 2=/ D@D (DGt

Cz))‘ﬁ@x-l) (V% ) -2 2(0»‘43 _Q};’O(zm-i) - lézn+|)
> (pFd(n-3) Nn-3

y):..-—?:— nn-) =% n el

4n+1L 3n~2  n+10 " n—1

N+ _ 3n-2 _ Hhn)+ 304
N-3 By H(n-3)

= | — 1 - _(n=D (n=l)
CNCEEN () "ol ™ 5
| 240 dprd) )
X Bxt2ay 300 - (Bx i) Ty (G
A% -4 3(:3-130 3(2x-Y) Qy".{)CV\'H). M _ n+l
P =8X ~24 _ 2(157@ - 2 (9’4) 2(p9 *~

R

-5




Rational Equations
DEMONSTRATION (Review Unit 8B)

C) ATIoN AL E QUATION )
R @—l) W + w —~ H) 3>
w-I w =

C _6 _.
cH ¢

_ wCwW-D+rw = Jw-3

=c,> Wwr—wFw = Hw-3
w*-4w +3 =0
Cwu-3)Cw-1) =0

¢ 6
) [ .
G« )(C_# t

cr o= C (b . |

C+b = C*~-MHC ws=3 ) < )isan excluded
valwe

-5 -6=0 RES)

(C-e)lerD=0 [C=6"]

Addhoned Prachce

@ EXCLODED VALLVE Problems mn: 9.3

7 _ x+4

-3 %3
et d

| 7 x+Y AT |
=3 (x__,> = s
T=% 3+

x =3 <& 3isan excluded

Ve luR

no saluhions

3 EXCLLDED VALLE

w-l W=
C,O‘fl"l“;n \Jed History shmistory




Rational Equations
PROBLEM SET (Review Unit 8B)

Solve each rehonal

@guation :

©
N
}J

Y
r

2n - &
n-4  n+y n-4

@ x _2ax _ -3

I}

@ _¢ 2 _ 3n
| n+| Nn-|

@‘x-H _ 7 .:,2‘

x+ 3 =9

@ n+! 2 2
n-4 N-2 n-4

Be caveful about
excluded valyes.

“Oh, my word, Helen! You play, too? ... And here |
always thought you were just a songbird.”

_6‘7_




Rational Equations
ANSWER KEY (Review Unit 8B)

@ Y\?"" “yi&i}} :j—) 0 - (N @ © PR S i’l)(nl—l)

n-4 = N+l n=l
2(\4*"‘0 —25’1(”""0‘-: l(ﬂ‘f"‘}') 6+ 20,)_0 = 2n (VH"D
2N +E —2n &N = 2n+E L+2n-2 = 3n*+3n
Zn*-gn <O | InT+n-H=0
2n(n-4)=0 ApE+Fn -3n=4=0
' ' - + 3y =
N=0, % & 45 an excluded n(3nt+4)=1 Gn+H=0
Value (zn+4) (n=1) =0
' | :_% / <& | is an exclud edl
| =~ value
@/ x xx 3 > et n= "%
+3 | - X 1+3 @
X+ 7 _
x(x-1) = ax(x43) = =3(x~1) vrelle vl 2) (x%a)
)R —2E-bX = "3 x 43 | |
>+ UX+3 =0 (x4 (x=3) =7 = 2 (x*-9)
L 2
XZAX=3~T= 2% =18
+ =0
(=< +3)(x+1) | o
X = -] excluded value

[x=-4,2]

@/exta _ 2 _x1\,n |

—_ = -4

(?RZ“LI' w2 ‘;(—1..) 6< ) Nl — Z = Zn ) (m—‘-})(n—l)
L].

n-4 = n-2 Nn-

Ex+9 — 2 (x-2) = (e=-)(x+2)

_ -+ -2~ = 2n(n-2)
Si:-q ;XT; -—o e : (nxn-2) ~2n+& = 2n* 4N
I | = o
x-5) (x+3)=0 nT-n ©=0
=5 -3 ~ @3)+2)=0
—



